X377 7"7 'on 2,7 naw .7"'02

It is understood according  — 379177 9792w 5910 929% RPN K72 937 RO
Rabi Meyer, however according to Rabi Yoh’see there are seventeen

Overview

The ®7nm3 asks that according to 01 ' who maintains by M2°%7 nnn 2°93 mP1an that
"2 maintains that if he forgot, the waters are not 2w, so we only have 127 1™,
but not 727 1" >"w7 and Md01n add up the 727 1",

= 9129129 NN NN 219990 299 NN 9199135 ) 81 MN

The X3 could have also asked, ‘but according to ©'', what can we say’.
- 9913 3PP PRI PDID PR YN 7Y

“""w1 counts the prohibitions of 9919 18 and "7 X as two of the 127 1" -
- 5191 1791 RYN NEPPH22 530D XYY MDD 1 1IN SNHI22 5INPT ¥IUN 19)
And so it seems (like *"w" that they are counted for two) since the Xns»92 states,
‘these (meaning 1219 1°X and 1P 1°R1) are some of the laws (in the plural sense) of

the 727 1",” and the Xn*92 only mentions these two; that proves that they are two of
the 727 "™ —

mMooIN anticipates a difficulty:
= 8931 IND MAYPI MDD PN 7WNYI HNUN 21130 17113 193 1PNaN BPYN RIT XM

And the reason he does not count the ruling of PXmw that one is not permitted to
distinguish between his clothes to his wife’s clothes 1377 798, and the Xn>22 which

prohibits the w»w inspecting cups and plates 2177 998%; why are they also not counted
separately —

mooIN responds:
= 99P5¥ 1AV NN 23N DYON 1P 19N

I'See 2,10.
21"1 (on R,1) does not agree with the 7713 of Y77 22 ARALA IR 7R3 D¥205unR 93. He is also lacking one of the
727 1™
3 The mwn on X,X° taught us that one may not rid his clothes from lice (799> X?) or read (X1p> X?) by the light of a lamp.
4 One may argue that since both these laws are for the same concern of 7> X»w, they should be considered as one.
Nevertheless *"wn counts them as two since they are separate forbidden acts.
3 X,20, reads n"W AR RAW ITINT AW 1103 12 DRI 12 70330 1Y IR MISHIT 1 19K 30 IR IR PRI 30 IRD 7D PR
6 See ®,2°.
7 See 2,2°.
8 "y counted PP PRI PRI TR as two even though the reason is the same, because of 0> Xaw (see footnote # 4), he
should therefore count these as well separately since they are different acts.
? See ‘Thinking it over’ # 1.
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These (1211732 12 Prann and wnw) were derived from these two (70 1°X) 1219 1'R),
for the latter were the main 1.

n1voIN asks:
- A0 0 2N YN NYT 1N 97U 90 NYT NUP 1IN

However there is a difficulty, why >"'29 did not count this rule of ‘a 21 should

not eat with a 1723’ as one of the 127 1" -
= 1089714 1PHINNa nY NNPT NN 92T 17919 INTT

For it is certainly one of the 227 11''y, since it is explicitly stated in the 7w -
- 109 YN RN %YW YN PYUNI Y9N N Hrah)

But according to this (that 72177 oy 217 %98 X7 is one of the 127 1) we need to say
that 1w 92181 1R 928 72187 are counted as one, but not as two as *"w1 maintains —

Mmoo offers an alternate suggestion how we can include 191 2177 9o8° X7 in the 927 11":
= 12891 25UN Y915 199)Y 9HNVY PAINY D193 12999 IWNRI AN 90) ON

Or we can also say, that the M7 of 292INR 29722 12177 WK X277 and 903w 7w

9, etc. are counted as one (but "1 NwXY YK are counted as two); the reason we count

them as one is -
- NN NP N NN KD OINT P0Ivn

For as the X3 stated, ‘if we will not be 9113 on a 21 1201w v, the previous 7773
of 121 w1 X277 will not stand’. mooin supports his contention -

= HNHN D91 22UN 1H129 1322 1INIYI N7 2391 %D
Just like 377901127 33991 3121 30D are considered as one 77913 of the 127 1", because they
were K77 D1Wn X7 M3, the same applies to WX X277 and 1911791 M.

mooIN anticipates an additional difficulty:
= MAYNN 12 IYN NNODINA NYY 1INPT YINND DY 2T DY 15WI99 2T DINY DT NN

And regarding that injunction that ‘a wy9p 21 should not eat together with a ay a1

19 The X3 concluded on 2,3 that the mwn of M2%77 1 1981 (referring to the 727 n"™) is to be understood that it is
referencing the previous 73wn on 2,%° which mentions P17 XY 191 PR (which are part of the 127 n"™) and then it
mentions 13 2177 298> &2, which indicates that this is certainly from the 127 n"™.
1 See ®ma77 1" °"w1 who writes; 22012 11121 ,¥7711,7M11°% T2 WD ,M077 KT TP9ID 7RI PIIR PRI 0 °R097 " "™ 1 10
KT 330 J0°91 ,30°3 JMI 71190 22170 ,7X02). The 719170 %097 '0' are presumably, 21w 9218 92387 .2 ,7IWR 2IIX 907 .K
IRALIY 29971 ,0 DHIIRM 17,007 ,T,I00M L1 .91 90IW MAYY LT, PIRY 272 121 WK XM LT LTRAY PRwR WM A
1Pwna (as mentioned on 2,3°). However '01n counts only 72170 *2097 '7 since "1 WX 22X are counted as one to leave
place for 7ar7 Qv 2177 Yo8° R>.
12 n9>13 numbered '7 and 77 in footnote # 10 are counted as one in this answer of '01n. See ‘Thinking it over’ # 2.
13 See 8,7 and in °X "7 oW "wId.
14 %
15 A wro (like a 7an) is meticulous in laws of 777V XMW in particular.
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va87’, regarding which it states in XnpoIn,'® ‘these (121 w1o 1) are from the M%7’
of the 727 1", so we have nineteen —

mooIn responds:
$NATN OY 21N YANY KD DDA MNT 9199190 NIIN

We can say that (21 w179 1) is included in the 7913 of 77237 2 217 YO8 XY, so there
is only 127 11",

Summary
""w1 and MO agree that 1P PRI P9I PR are counted as two. However *"w1 does

not include 72177 a¥ 21 9a8° XY, while N0 does, and therefore he combines either
W 9IIRY PNWRA PN or WRI K27 and 191 1901w AY, as one.

Thinking it over
1. How can we explain why 1 XY 121 1R are counted individually, while 1°man

1732 12 and wnw are not counted, but are included in the above?!”

2. What are the relative advantages of counting either 11 WX 92 as one,'® or
counting 121 WX X271 and 121 1791w AL as one?

16 See w7 Moo who writes, M52 1281 *anp °277 7N21 721 w27 RNADD XNODINA 172 %INP1 121 WIND 21 IR KT X
That is also the way it appears in our 1"71 X"D &¥no01n. Our NHOIN may mean the same thing that since in the XndoN it
states M7 1281 immediately after w1o 21, that means it is one of the 127 ™.
17 See man nnon.
18 See footnote # 12.
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